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@ "% @ Multiplique decimais por poténcias de dez

Nome: Encontro: Data: Pontuagdo:
9,691 x 10000 = 8,287 x 10000 =
6, 722 x 10000 = 3,096 x 1000 =
10, 929 x 10000 = 6,885 x 10 =
7,722 x 100 = 8,003 x 1000000 =
5,258 x 100000 = 6, 502 x 1000 =
10,251 x 10 = 4,364 x 100000 =
10, 127 x 10000 = 9, 114 x 100000 =
1, 888 x 100000 = 7,241 x 100 =
1,688 x 10 = 9,604 x 1000 =
10, 974 x 1000000 = 9,299 x 100 =
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Multiplique decimais por poténcias de dez

Nome:

9,691 x 10000 = 96910

6, 722 x 10000 = 67220

10, 929 x 10000 = 109290

7,722 x 100 = 772.2

5,258 x 100000 = 525800

10,251 x 10 = 102.51

10, 127 x 10000 = 101270

1, 888 x 100000 = 188800

1,688 x 10 = 16.88

10, 974 x 1000000 = 10974000

Encontro: Data: Pontuacao:

8,287 x 10000 = 82870

3,096 x 1000 = 3096

6, 885 x 10 = 68.85

8, 003 x 1000000 = 8003000

6, 502 x 1000 = 6502

4,364 x 100000 = 436400

9, 114 x 100000 = 911400

7,241 x 100 = 724.1

9,604 < 1000 = 9604

9,299 x 100 = 929.9
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